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1. Recently the term "Slack" is in news. Consider the following statements on it. 

1) Slack is .the communication solution used by Twitter employees. 

2) Slack is an enterprise-grade communication tool that allows employees all over the world to instantly 

communicate with others. 

Select the correct answer using the codes given below: 

a) 1 only 

b) 2 only 

c) Both 1and 2 

d) Neither 1 nor 2 

 

2. Social Stock Exchange is in News .consider the following statements on SSE: 

1) The SSE would function as a separate segment within the existing stock exchange. 

2) Social enterprises raise funds from the public through its mechanism. 

3) Retail investors can only invest in securities offered by for-profit social enterprises (SEs) under the Main 

Board. 

Which of the above statements is/are correct? 

a) 1 and 2 only 

b) 2 and 3 only 

c) 1 and 3 only 

d) 1, 2 and 3 

 

3. With reference to National Disposable Income, consider the following statements: 

1) It is the sum total of Net National Product at market prices and other current transfers from the rest of the 

world. 

2) The maximum amount of goods and services that the domestic economy has at its disposal cannot be 

determined through National Disposable Income. 

Which of the statements given above is/are correct? 

a) 1 only 

b) 2 only 

c) Both 1 and 2 

d) Neither 1 nor 2 

 

4. Consider the following statements regarding ‘Internet Saathi’: 

1) It is a digital literacy programme for rural women of Haryana. 
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2) It has been launched jointly by Google and Niti Aayog. 

3) This project has been launched in 2018. 

Which of the statements given above is/are not correct? 

a) 1 and 2 only 

b) 1 and 3 only 

c) 2 and 3 only 

d) 1, 2 and 3 

 

5. With reference to Index of Industrial Production (IIP), consider the following statements: 

1) It is estimated and published by the Central Statistics Office. 

2) The base year for calculating IIP has been updated to 2014-15. 

3) It is a measure of industrial output only. 

Which of the statements given above is/are correct? 

a) 1 and 2 only 

b) 1 and 3 only 

c) 2 and 3 only 

d) 1, 2 and 3 

 

6. Recently, sovereign gold bond scheme is in news. Which among the following statements are true regarding 

it: 

1) Minimum investment is 2grams  

2) Exit option in 5th year  

3) Tenure is for 8 years  

Which of the above statements is/are correct? 

a) 1 and 2 only 

b) 2 and 3 only 

c) 1 and 3 only 

d) 1, 2 and 3 

 

7. Recently Shoonya campaign is in news. It is related to  

a) Eliminating TB by 2030 

b) Consumer awareness to Reduce air pollution  

c) Ensure zero COVID hesitancy  

d) Universal immunisation programme. 

 

8. Consider the following statements about Domestic Systemically Important Banks (D-SIB): 

1) Banks whose assets exceed 2% of GDP are considered as D-SIB. 

2) Only Public sector banks can be declared as D-SIB. 
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3) The Finance Ministry is responsible for declaring D-SIB. 

Which of the statements given above is/are correct? 

a) 1 only 

b) 1 and 3 only 

c) 2 only 

d) 1, 2 and 3 

 

9. Consider the following statements regarding ‘privilege motion’: 

1) It can be moved by any member of either House. 

2) Breach of privileges is punishable under constitution. 

Which of the statements given above is/are correct? 

a) 1 only 

b) 2 only 

c) Both 1 and 2 

d) Neither 1 nor 2 

 

10. With reference to Minimum Support Price, consider the following statements: 

1) It is announced by the Commission for Agricultural Costs and Prices (CACP). 

2) Coconuts, raw cotton and sugarcane are covered under MSP. 

Which of the statements given above is/are correct? 

a) 1 only 

b) 2 only 

c) Both 1 and 2 

d) Neither 1 nor 2 

http://www.excelacademy.com/

